





Unit 2 Rate of Change
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. Below is the graph and table for 2 runners running the 400 meter hurdles race.

B
z Time Runner A Runner B
£ 0 0 (!
S 9 120 120
3 20 168 21300
2 3l R25 70 287
Fime (seconds) . P y
a) Which runner has a faster average speed for the first 9 seconds? N e)+h6‘// S/r 4 12D- D
they have ‘he same KOc 122 A:120°C B:

b) Which rynner has a faster average speed frorn 9 to 20 se(,ondse
aén%ope A We-126 = Us - JAJapca G FIEIS =8£.45
c) Which runner hacs’cz fcls'er(cweroge speed from 20 to 3%second52
Zo A:%, la =/0.8 g.;zg;uia??:bﬁz
S d) Which runner has a faster uvercge speed from ¢ to 31 secor\clzg Ne I“}’htyl/
Same sop< WY 120 = 1] 769 B, 282120 \= L oo RIEeE)

Which runrgiér wins the ro?e%/How do you know? QU(] h—cV A’ *A/DIV\ +"f g/aﬁ}}
finlched /N Jess Hime.
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The graph below shows the United States population from 1900 to 2010, as recorded by the U.S.
Census Bureau.
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What was the rate of change in the population from 1900 to 20002 Is this greater or less than the
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b) Which 10-year time penoﬁ Ecve e highest and the lowest rates of change? How did you find

these?
Lowest: smarller slope l‘th-H'zo, Q20— 10
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For f(x) @— 2. find the rate of change on the interval [-2. 4].
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You and a friend are frying to decide which theater to go to for a Friday night
movie. NCG charges $7 for the movie ticket and $3 per food item. Regail's prices

are represenied by the table.

Write an equation for NCG and Regal. Compare their rates of change and initialf,

cost.

NCG: Y= 2x+7

Which theater is cheaper if you want to see the movie and also get a drink
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For the followir;'g two functions, write the equations of each and complete the chart using <. >, or =

to compare them.
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